Grade 9 Math A }\BSMszg 6. Evaluate each power of 10.

MID-TERM EXAM PREPARATION a) 10 b) -10° ¢) (-10)°
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1. Label the diagram. 7. Fill in the chart.
EX VOI/‘&@ VL"" Standard Form As powers of 10
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base ' Dl 2,805 (0™ ] + (3303 54X+ (@ x15°)

q 9053030 (4 x 107) + (5 x 10%) +(3 x 10°)+ (3 x 10"
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2. Fill in the blanks. 320 (X0 x o) ?L‘(P Xlp')

A power with an integer base and exponent 2 is a 8. Evaluate.

54 LAV, }];

A power with an integer base and exponent 3 is a ) {3 X (=2)° — 4] by (—7 + 5)* — [4 + (~1)’]
, | [3%(-8)-4 22 - (3)*
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3. Fill in the ch '( ) LAY (=BT i

. Fill in the chart. (8)‘7{ _/?)Cg) F\ _78“‘} b

Repeated Asa power Standard Form\ Q9+ (,—3)3)— 5 -2 fiey" — 2P = (8 + 37

multiplication gl = (-2 +5-32 Q7 “QD“’Q)‘:— |
6x6x6x6Xx6 (()5 ’]—7’7‘4) % 5,95 =47 ( 139 =)
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4. Predict whether each answer is positive or negative, then [' - \] i . H ) ”() -
evaluate. (,) [0 5 =]
a) (-2)3 b) -2 c) (-4)° d) 5* | Lt
@ Y\W\ffﬂ\/@ }9051')( P[fg,'—hv\@
(~ f;?X/.Z) % I 75 9. Use a calculator to evaluate.
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5. Write each number as a power with base 2. . a) (36 ~ 22 + 11)° — 10> b) 32' :
- 0 2 ) 36(12° — 137
=~ 4 b)16 = QL’ 064 =) (36744 1)~ 00000 ; 4 ‘
A1)3- 100000 126
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10. Write each as a single power.
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a) 67 X 61 + 6° b) (=31 + (—=3)* X (=3)*
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11. Evaluate
_ 8-y (4]

a) 7? —(43 x 404 32 B2 = (—Z)ﬂ—ﬁ—llﬁ + (—2)/5]
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12. Simplify by applying your exponent laws and then
evaluate.

N
by (74 = 77y + (3% + 3°)°

76+ 2 ¥

a) (62)° + (6%)2
b b8
()/6 5
L8
O L2 = (=2)* — [(=5)* X (=5P[°
[(D']7-[5)°
(-2)° - |
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d) (4 X 9)* + (37)7

(26)1 + 3%
WAy 1L 4 EXdntla)

2 =5

= 738665

117049 + 1968% 215723

13. A wheat field is 10 000 m wide. The area of the field
is 10 m”.

0" SOUARE

a) Use the exponent laws to determine the length of the field.

= Jx =% _ 8%
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b) What is the perimeter of the field? Did you use any
exponent laws to calculate the perimeter? Explain.

p=4x(p*
P = 4X10000 f<
P = Yooop vy oF il

14. TRY THESE HARDER ONES!!!

a [{=3)1) x [(—400Y— !{_qw
(“3)8 x [Cu)°-[e3]°
Lol ® 1= |
6560

311
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b [(=2)' + [(=4P) = [(=3)]
-2)2 + 9] - (-9
Yo + 409t - 656
3192 —656|
631

a [(=3) X (=) + [(—6)°])2 — [(=3)? = (=3)°]

()24 ()b -[9']”
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